Equilibrium Worksheet No. 1 -

1.

Equilibrium is said to be dynamic. Explain why this is so and give an example of a
dynamic equilibrium.
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Indicate in each of the following reactions whether the tendency towards maximum

entropy favors reactants or products. A+

a. Ny + 205 + heat <===> 2NOy, Te,ofn*aad’s‘
b. Nyg)- + 3Hypy <===> 2NHyq) + heat veoctels
C. C_H4(g) + H2 ® 4+ heat < ===> CO ) + 3H2(g) PmM:

In each of the following reactions show the direction the reaction must proceed in to
attain minimum enthalpy and maximum entropy.

2. 30, > 203, AH = +285k1 «2H . <23
b. 1/2Ny + Oyg—> NO, aH = 434K  ¢al oS
c.2 HzO(g) —> 2H2(g) + Oz(g) AH = +484 kJ Q&L ARy

d. Py + 6Hy(gy —> 4PHy, AH= +37TkK catl <ol

In which of the following reactions will the entropy favour the reactants while enthalpy
favours the products?

b. Py + 6Hyq + 37K <====> 4PH,,
c. PClyy <====> PClyy + Cly, : AH=+925K
d. NOy,y <====> UNy ) + Oy ; aH=-33.8KJ

For each of the following reactions determine the direction of the enthalpy drive and the
direction of the entropy drive. Then determine which one factor is responsible for the
forward reaction.

aH a5
a. heat + NyOy(,) <-——> NO(,) + NOyyy < ﬂ~> )
b. 2Hyyy + 2NG(yy <-—> Ny + 2H,O( + heat 205 22 b i £
- €Oy + 1720,y <--> COyyy aH=-283 kI I ;
d- Ly + Clhygy <> ACly aH=35K <ot 2m, o oy [ b
e. H,0q) <-—- > HyOq aH=41K <2d 23
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